
SL NO. DESCRIPTION DRG No. ITEM NO. QTY/LOCO1 Nipple TxT (BSP) (15-21) - 1/2" 2 719 65 01 017 NA 102 Nipple TxT (BSP) (21-27) - 3/4" 2 719 65 01 017 NA 103 Taper & Parallel Nipple (15-21) - 1/2" 2 719 65 01 017 NA 44 Taper & Parallel Nipple (21-27) - 3/4" 2 719 65 01 017 NA 45 Taper & Parallel Nipple (26-34) - 1" 2 719 65 01 017 NA 86 Taper & Parallel Nipple (33-42) - 1-1/4" 2 719 65 01 017 NA 127 Parallel Nipple (21-27) - 3/4" 2 719 65 01 017 NA 08 Socket (P) (15-21) - 1/2" 2 719 65 01 022 NA 49 Socket (P) (21-27) - 3/4" 2 719 65 01 022 NA 410 Reducing nipple (T) 1-1/4" x  3/4"R (42 X 27R) 2 719 65 01 018 NA 211 Threaded end piece (T) (15-21) - 1/2" 2 719 65 01 021 NA 1012 Threaded end piece (T) (21-27) - 3/4" 2 719 65 01 021 NA 1513 Threaded end piece (T) (26-34) - 1" 2 719 65 01 021 NA 514 Threaded end piece (T) (33-42) - 1-1/4" 2 719 65 01 021 NA 615 1" Spiral end piece 4 719 20 01 017 NA 816 Special Reducing nipple 3/4" x 1/2" (27P x 21T) 2 719 65 01 006 #001 517 Special Reducing nipple 1/2" x 3/8" (21T x 17P) 2 719 65 01 006 #002 218 Special Reducing nipple 3/8" x 1/4" (17P x 13T) 2 719 65 01 006 #004 219 Special Reducing nipple 1-1/4" x 1" (42P X 34T) 2 719 65 01 006 #009 420 Special Reducing nipple 1" x 3/4" (34P x 27T) 2 719 65 01 006 #010 221 Special Reducing nipple 1/2" x 1/4" (21T x 13P) 2 719 65 01 006 #012 222 Nipple 1/2" BSP(T) X 1/2" NPT (15-21) 2 719 65 01 009 #004 423 Nipple 3/4" BSP(T) X 3/4" NPT (21-27) 2 719 65 01 009 #005 024 Weldolet 3/8" (15 NB) dia 24 BRT Steel Rod 3 719 65 01 011 #001 625 Weldolet 3/8" (20 NB) dia 24 BRT Steel Rod 3 719 65 01 011 #002 626 Weldolet 3/4" (15 NB) dia 30 BRT Steel Rod 3 719 65 01 011 #003 627 Weldolet 3/8" (50 NB) dia 24 BRT Steel Rod 3 719 65 01 011 #004 628 Reducing nipple (P) 1/2" BSP x 1/4"BSP 4 719 52 01 043 #001 029 Serew type plug 1/4" BSP 4 719 11 01 005 #001 430 Reducing Adaptor 1" BSP  X 3/4" BSP 3 719 37 01 042 #001 8

SET OF STEEL FITTINGS FOR DESL

Page 1 of 3



SL NO. DESCRIPTION DRG No. ITEM NO. QTY/LOCO31 Male & Female Connector (1/4" NPT Male X 1" BSP Female) 3 718 65 01 000 #001 232 Male & Female Connector (3/4" NPT Male X 1" BSP Female) 3 718 65 01 000 #002 233 Reducing Socket (3/8" X 3/4") BSP(P) 4 718 88 01 042 #001 234 Reducing Socket (3/8" X 1") BSP(P) 4 718 88 01 043 #001 335 Socket (1") BSP(P) 4 718 88 01 044 #001 236 Male Connector Assembly 6 mm od x 1/4" NPT 3 718 88 01 017 #001, Var 00 2037 Male Connector Assembly 10 mm od x 3/8" NPT 3 718 88 01 017 #002, Var 00 9038 Male Connector Assembly 6 mm od x 1/4" BSP 3 718 88 01 017 #001, Var 01 3039 Male Connector Assembly 10 mm od x 3/8" BSP 3 718 88 01 017 #002, Var 01 5540 Male Connector Assembly 6 mm od x 3/8" NPT 3 718 88 01 053 #001 441 Male Connector Assembly 6 mm od x 3/8" BSP 3 718 88 01 053 #002 642 Male Connector Assembly 6 mm OD x 1/2" BSP 3 718 88 01 053 #003 443 Male Connector Assembly 10 mm od x 1/4" NPT 3 718 88 01 053 #004 644 Male Connector Assembly 10 mm od x 1/4" BSP 3 718 88 01 053 #005 1045 Male Connector Assembly 10 mm od x 1/2" NPT 3 718 88 01 053 #006 1046 Male Connector Assembly 10 mm od x 1/2" BSP 3 718 88 01 053 #007 1547 Male Connector Assembly 10 mm od x 1/8" NPT 3 718 88 01 053 #008 448 Straight Union Assembly 6 mm od tube 3 718 88 01 018 Var 00 1549 Straight Union Assembly 10 mm od tube 3 718 88 01 018 Var 01 3050 Equal Tee Assembly  6 mm od tube 3 718 88 01 019 Var 00 1051 Equal Tee Assembly 10 mm od tube 3 718 88 01 019 Var 01 1052 Union Equal Cross Assembly 10 mm od tube 3 718 88 01 020 Var 01 453 Line Plug Assembly 6 mm od tube 3 718 88 01 057 #001 254 Line Plug Assembly 10 mm od tube 3 718 88 01 057 #002 255 Gauge Coupling Assembly 10 mm od x 1/4" BSP 2 719 99 01 004 NA 456 Gauge Coupling Assembly 10 mm od x 3/8" BSP 2 719 99 01 004 NA 457 Gauge Coupling Assembly 6 mm od x 3/8" BSP 2 719 99 01 004 NA 458 Male Stud Elbow Assembly 1/4" BSP X 10 mm od 3 718 88 01 055 #001 059 Male Stud Elbow Assembly 3/8" BSP X mm 10 od 3 718 88 01 055 #002 060 Bulk head Coupling Assembly 6 mm od tube 2 719 99 01 003 Var 01 261 Bulk head Coupling Assembly 10 mm od tube 2 719 99 01 003 Var 02 662 Equal Elbow Assembly 6 mm od tube 3 718 88 01 054 #001 2
Page 2 of 3



SL NO. DESCRIPTION DRG No. ITEM NO. QTY/LOCO63 Equal Elbow Assembly 10 mm od tube 3 718 88 01 054 #002 1064 Reducing Straight Union Assembly 10 mm od x 6 mm od 3 718 88 01 056 NA 565 Welding Connector Assembly 10 mm od tube 3 718 88 01 016 Var 01 666 Steel ferrule 10 mm 2 719 65 01 033 #010 3067 Steel ferrule 6 mm 2 719 65 01 033 #011 3068 Serew type plug 3/8" NPT 3 719 65 01 005 #001 1069 Weldable sleeve 1/2" (For 15 NB Pipe) 3 718 34 01 055 #001 670 Weldable sleeve 3/4" (For 20 NB Pipe) 3 718 34 01 055 #002 671 Weldable sleeve 1" (For 25 NB Pipe) 3 718 34 01 055 #003 672 Weldable sleeve 1-1/4" (For 32 NB Pipe) 3 718 34 01 055 #004 673 Pipe Flange (Elliptical) 2 719 34 01 005 #005 474 Bulk Head Elbow for 10 mm od tube 2 719 65 01 025 NA 275 Elbow Weldable 90 deg (15-21) - 1/2" 3 719 65 01 008 #003 076 Reducing Nipple 1-1/4" NPT x 1" BSPT 2 719 65 01 005 #001 5
645

Page 3 of 3



VAR
02

VAR
01

VAR
00

ITEM
NO.

ITEM DESCRIPTION DRG NO.
ITEM NO. /

VAR  NO

20 10 4 001 Nipple TxT (BSP) (15-21) - 1/2" 2 719 65 01 017 -

20 10 2 002 Nipple TxT (BSP) (21-27) - 3/4" 2 719 65 01 017 -

15 4 4 003 Taper & Parallel Nipple (15-21) - 1/2" 2 719 65 01 017 -

15 4 4 004 Taper & Parallel Nipple (21-27) - 3/4" 2 719 65 01 017 -

15 8 6 005 Taper & Parallel Nipple (26-34) - 1" 2 719 65 01 017 -

20 12 006 Taper & Parallel Nipple (33-42) - 1-1/4" 2 719 65 01 017 -

4 007 Parallel Nipple (21-27) - 3/4" 2 719 65 01 017 -

8 4 4 008 Pipe Socket (P) (15-21) - 1/2" 2 719 65 01 022 -

8 4 4 009 Pipe Socket (P) (21-27) - 3/4" 2 719 65 01 022 -

10 2 010 Reducing nipple (T) 1-1/4" x  3/4"R (42 X 27R) 2 719 65 01 018 -

10 10 10 011 Threaded end piece (T) (15-21) - 1/2" 2 719 65 01 021 -

10 15 012 Threaded end piece (T) (21-27) - 3/4" 2 719 65 01 021 -

8 5 5 013 Threaded end piece (T) (26-34) - 1" 2 719 65 01 021 -

6 6 014 Threaded end piece (T) (33-42) - 1-1/4" 2 719 65 01 021 -

12 8 4 015 1" Spiral end piece 4 719 20 01 017 -

6 5 2 016 Special Reducing nipple 3/4" x 1/2" (27P x 21T) 2 719 65 01 006 #001

4 2 2 017 Special Reducing nipple 1/2" x 3/8" (21T x 17P) 2 719 65 01 006 #002

2 2 018 Special Reducing nipple 3/8" x 1/4" (17P x 13T) 2 719 65 01 006 #004

6 4 019 Special Reducing nipple 1-1/4" x 1" (42P X 34T) 2 719 65 01 006 #009

10 2 2 020 Special Reducing nipple 1" x 3/4" (34P x 27T) 2 719 65 01 006 #010

4 2 2 021 Special Reducing nipple 1/2" x 1/4" (21T x 13P) 2 719 65 01 006 #012

15 4 4 022 Nipple 1/2" BSP(T) X 1/2" NPT (15-21) 2 719 65 01 009 #004

5 023 Nipple 3/4" BSP(T) X 3/4" NPT (21-27) 2 719 65 01 009 #005

10 6 6 024 Weldolet 3/8" (15 NB) dia 24 BRT Steel Rod 3 719 65 01 011 #001

10 6 6 025 Weldolet 3/8" (20 NB) dia 24 BRT Steel Rod 3 719 65 01 011 #002

12 6 6 026 Weldolet 3/4" (15 NB) dia 30 BRT Steel Rod 3 719 65 01 011 #003

12 6 6 027 Weldolet 3/8" (50 NB) dia 24 BRT Steel Rod 3 719 65 01 011 #004

18 028 Reducing nipple (P) 1/2" BSP x 1/4"BSP 4 719 52 01 043 #001

10 4 4 029 Serew type plug 1/4" BSP 4 719 11 01 005 #001

8 8 8 030 Reducing Adaptor 1" BSP  X 3/4" BSP 3 719 37 01 042 #001

2 2 2 031 Male & Female Connector (1/4" NPT Male X 1" BSP Female) 3 718 65 01 000 #001

2 2 2 032 Male & Female Connector (3/4" NPT Male X 1" BSP Female) 3 718 65 01 000 #002

2 2 2 033 Reducing Socket (3/8" X 3/4") BSP(P) 4 718 88 01 042 #001

3 3 3 034 Reducing Socket (3/8" X 1") BSP(P) 4 718 88 01 043 #001

2 2 2 035 Socket (1") BSP(P) 4 718 88 01 044 #001

10 20 20 036 Male Connector Assembly 6 mm od x 1/4" NPT 3 718 88 01 017 #001, Var 00

100 90 60 037 Male Connector Assembly 10 mm od x 3/8" NPT 3 718 88 01 017 #002, Var 00

10 30 20 038 Male Connector Assembly 6 mm od x 1/4" BSP 3 718 88 01 017 #001, Var 01

70 55 20 039 Male Connector Assembly 10 mm od x 3/8" BSP 3 718 88 01 017 #002, Var 01

4 4 040 Male Connector Assembly 6 mm od x 3/8" NPT 3 718 88 01 053 #001

6 6 041 Male Connector Assembly 6 mm od x 3/8" BSP 3 718 88 01 053 #002

9 4 2 042 Male Connector Assembly 6 mm OD x 1/2" BSP 3 718 88 01 053 #003

20 6 4 043 Male Connector Assembly 10 mm od x 1/4" NPT 3 718 88 01 053 #004

10 10 10 044 Male Connector Assembly 10 mm od x 1/4" BSP 3 718 88 01 053 #005

1. VAR 00 - 350 HP DESL
2. VAR 01 - 700 HP DESL
4. VAR 02 - 1400 HP DESL

5. THESE FITTINGS ARE TO BE PACKED LOCO SET WISE. IN EACH LOCO SET, SAME TYPE OF FITTINGS ARE TO BE
PACKED TOGETHER & LABELLED TO PREVENT INTERMIXING.

6. MATERIAL OF CONSTRUCTION OF EACH FITTING IS MENTIONED IN ITS INDIVIDUAL DRAWING.

25 10 10 045 Male Connector Assembly 10 mm od x 1/2" NPT 3 718 88 01 053 #006

25 15 10 046 Male Connector Assembly 10 mm od x 1/2" BSP 3 718 88 01 053 #007

4 4 4 047 Male Connector Assembly 10 mm od x 1/8" NPT 3 718 88 01 053 #008

15 15 10 048 Straight Union Assembly 6 mm od tube 3 718 88 01 018 Var 00

65 30 25 049 Straight Union Assembly 10 mm od tube 3 718 88 01 018 Var 01

10 10 10 050 Equal Tee Assembly  6 mm od tube 3 718 88 01 019 Var 00

30 10 8 051 Equal Tee Assembly 10 mm od tube 3 718 88 01 019 Var 01

5 4 4 052 Union Equal Cross Assembly 10 mm od tube 3 718 88 01 020 Var 01

2 2 053 Line Plug Assembly 6 mm od tube 3 718 88 01 057 #001

2 2 054 Line Plug Assembly 10 mm od tube 3 718 88 01 057 #002

10 4 4 055 Gauge Coupling Assembly 10 mm od x 1/4" BSP 2 719 99 01 004 -

20 4 4 056 Gauge Coupling Assembly 10 mm od x 3/8" BSP 2 719 99 01 004 -

4 4 4 057 Gauge Coupling Assembly 6 mm od x 3/8" BSP 2 719 99 01 004 -

10 058 Male Stud Elbow Assembly 1/4" BSP X 10 mm od 3 718 88 01 055 #001

50 059 Male Stud Elbow Assembly 3/8" BSP X mm 10 od 3 718 88 01 055 #002

5 2 2 060 Bulk head Coupling Assembly 6 mm od tube 2 719 99 01 003 Var 01

6 6 6 061 Bulk head Coupling Assembly 10 mm od tube 2 719 99 01 003 Var 02

2 2 062 Equal Elbow Assembly 6 mm od tube 3 718 88 01 054 #001

15 10 10 063 Equal Elbow Assembly 10 mm od tube 3 718 88 01 054 #002

5 5 5 064 Reducing Straight Union Assembly 10 mm od x 6 mm od 3 718 88 01 056 -

3 6 065 Welding Connector Assembly 10 mm od tube 3 718 88 01 016 Var 01

50 30 30 066 Steel ferrule 10 mm 2 719 65 01 033 #010

50 30 25 067 Steel ferrule 6 mm 2 719 65 01 033 #011

15 10 10 068 Serew type plug 3/8" NPT 3 719 65 01 005 #001

8 6 4 069 Weldable sleeve 1/2" (For 15 NB Pipe) 3 718 34 01 055 #001

8 6 4 070 Weldable sleeve 3/4" (For 20 NB Pipe) 3 718 34 01 055 #002

6 6 4 071 Weldable sleeve 1" (For 25 NB Pipe) 3 718 34 01 055 #003

8 6 072 Weldable sleeve 1-1/4" (For 32 NB Pipe) 3 718 34 01 055 #004

12 4 4 073 Pipe Flange (Elliptical) 2 719 34 01 005 #005

8 2 2 074 Bulk Head Elbow for 10 mm od tube 2 719 65 01 025 -

4 075 Elbow Weldable 90 deg (15-21) - 1/2" 3 719 65 01 008 #003

10 076 Reducing Nipple 1-1/4" NPT x 1" BSPT 2 719 65 01 005 #001

VAR
02

VAR
01

VAR
00

ITEM
NO.

ITEM DESCRIPTION DRG NO.
ITEM NO. /

VAR  NO

-

--

-

-

-

-

- -

- -

-

-

5 5

--

-

-

-

--

-

-

-

-

-

AutoCAD SHX Text
 BHARAT HEAVY ELECTRICALS LTD.

AutoCAD SHX Text
 JHANSI

AutoCAD SHX Text
 CHD

AutoCAD SHX Text
 DRN

AutoCAD SHX Text
 APPD

AutoCAD SHX Text
 NAME

AutoCAD SHX Text
 SIGN

AutoCAD SHX Text
 DATE 

AutoCAD SHX Text
 WEIGHT [KG]

AutoCAD SHX Text
 SCALE

AutoCAD SHX Text
 GRADE OF

AutoCAD SHX Text
TITLE

AutoCAD SHX Text
 CODE

AutoCAD SHX Text
 DEPT 

AutoCAD SHX Text
LME

AutoCAD SHX Text
 REF. TO ASSY. NO. 

AutoCAD SHX Text
 ITEM

AutoCAD SHX Text
 NO. OF

AutoCAD SHX Text
 NO

AutoCAD SHX Text
 ITEM

AutoCAD SHX Text
 REV.

AutoCAD SHX Text
 SHEET NO. 

AutoCAD SHX Text
NO. OF SHEETS

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
CARD

AutoCAD SHX Text
CODE

AutoCAD SHX Text
 UN.TOL.

AutoCAD SHX Text
 DIM. C/M/F

AutoCAD SHX Text
 OR

AutoCAD SHX Text
 NAME OF CUSTOMER/PROJECT

AutoCAD SHX Text
 TYPE OF PRODUCT

AutoCAD SHX Text
ADDITIONAL INFORMATION

AutoCAD SHX Text
STATUS OF DRAWING

AutoCAD SHX Text
DISTRIBUTION OF PRINTS

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ALTERED

AutoCAD SHX Text
 CHECKED

AutoCAD SHX Text
 NO. OF

AutoCAD SHX Text
 VAR

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ALTERED

AutoCAD SHX Text
 CHECKED

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ALTERED

AutoCAD SHX Text
 CHECKED

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ALTERED

AutoCAD SHX Text
 CHECKED

AutoCAD SHX Text
THE INFORMATION ON THIS DOCUMENT IS THE PROPERTY OF BHARAT HEAVY ELECTRICALS LIMITED.  IT MUST

AutoCAD SHX Text
NOT BE USED DIRECTLY OR INDIRECTLY IN ANY WAY DETRIMENTAL TO THE INTEREST OF THE COMPANY.

AutoCAD SHX Text
SIGN & DATE

AutoCAD SHX Text
INVENTORY NO.

AutoCAD SHX Text
REF. DRG. NO.

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
F

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
B

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
SIZE A2

AutoCAD SHX Text
(ALL DIMENSIONS ARE IN mm)

AutoCAD SHX Text
FIRST ANGLE PROJECTION

AutoCAD SHX Text
1:1

AutoCAD SHX Text
00

AutoCAD SHX Text
01

AutoCAD SHX Text
01

AutoCAD SHX Text
04.11.24

AutoCAD SHX Text
2 718 34 01 047

AutoCAD SHX Text
LME(DV) - 1

AutoCAD SHX Text
LMM(DV) - 3

AutoCAD SHX Text
LMP(DV) - 2

AutoCAD SHX Text
U

AutoCAD SHX Text
%%U350/700/1400 HP DESL.

AutoCAD SHX Text
404

AutoCAD SHX Text
%%USET OF STEEL FITTINGS

AutoCAD SHX Text
SKK/GR

AutoCAD SHX Text
NOTE:-

AutoCAD SHX Text
076

AutoCAD SHX Text
03

AutoCAD SHX Text
-

AutoCAD SHX Text
DKK

AutoCAD SHX Text
-

AutoCAD SHX Text
VIKAS

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ALTERED

AutoCAD SHX Text
 CHECKED

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
ALTERED 

AutoCAD SHX Text
 CHECKED

AutoCAD SHX Text
--

AutoCAD SHX Text
04.11.24

AutoCAD SHX Text
04.11.24

AutoCAD SHX Text
2 718 34 01 047






































































	Sheets and Views
	Model

	27193401005
	27196501005
	27196501006
	27196501009
	27196501017
	27196501018
	27196501021
	27196501022
	27196501025
	27196501033
	27199901003
	27199901004
	37183401055
	37186501000
	37188801016
	37188801017
	37188801018
	37188801019
	37188801020
	37188801053
	37188801054
	37188801055
	37188801056
	37188801057
	37193701042
	37196501005
	37196501008
	37196501011
	47188801042
	47188801043
	47188801044
	47191101005
	47192001017
	47195201043

